STOKA B4-1

17.11
$127/269.0°

STOKA B4

k.0. VFeskovice

2190

§136

[ 10.22

| 1756

| 18.44

¥

| 14.05

|94

[ 1274

| 2.4

| 1663

v

| 18.50

| 4665

| 4197

| 2751

§135

5133/167.2° S134177.1°

S132193.8°

S1301933°  $131193.1°

S129191.3°

5128/184.0°

$1271156.2°

S126/176.7°

5125180.7°

S124133.8°

5123/159.8°

KATASTRY

VZDALENOSTI SACHET

539101.0°

¥

v

v

OZNACENI SACHET

8 _le
v S = .
EE AR HHHS
093w 82w
F oo - 'S
<" %o A
O s § 9
> 5 0 S0 | o ~|=< -
£23 (€355 &
) |
£ |5 3|¢|S[E
w
Q
2| N
=
© W A 4
s = 2 <
Qo o B
L2 2| &
~l - LS
I 8 <
Q X B <L m
Q2 o >
& = 05| €
R )
“ m O |
N ~ & <L »n
= o I
. ) L]
s § w g
.. (=) i c p
5z Vy — %
22| g 2 |z E
= o - 0 S ——
X 4 H S o
f N X K < b -]
Rols 8| W [T o
T = m > . Wl N .
|4 §OK N
) 2 0O|< > AN
% mw 067 006 0TIV [ WL
662 SLLY 190 [ 071
% JIx:1% L e g8
[oqey oeroigps - O\ 188 %Sl W mmw RS
i = 0 89S WEHT g
% 00400S:} W
&
% S 09}  eSuy  BOBKWT | 008L
[50eY 12A0[3pS iy 0L
(- WO WLP o 906 [ 8E0L
6/ 9Ly SOBMWT [ 6LL9
o POAOUR|d H Ly 9ez9
/ , 61 Ly SO [ 519
1 061 VLY 0BT [ S
(- , , 07 WLy 0BT 2996
POACUA|d SOLly 8'es
Ww oL 8O OB | 2208
/ , W27 699 EOBMW | 609K
7T W 6B | 66K
007 199 SBR[ #E
% W27 8GO WBW [ 8LIE
/ // T W  evew [ ISK
16} 629 LB 88l
]ﬁ w20 e Ll
o _ L 60 O B~ 0801 K
081 OV 0BT 000 |
= 081 L0 LW 0v'8
LV SO LW 16
o~
Q =
POACUAI \ 009}y [~ 17686
% A wT %S 008 [ 0/%
\ €67 S LBl | €68
= 087 88 9B [ 9578
/ 866 S  SOBWTT ISWL
\. gee  I8S  OVEWT [ STEL
| 058 QLS STEWTY— 169
PoAOUA(d \ LSl — L9
= \ 1e  SISW  eeWT [ 2579
LSk £5'65
[oGEY 10BACIgPS
Stoka B4-1 “ WOy 69S  WE~— 709
poAoUAd 699y 6,99
Py 909Gk  B9BIT[ 8LIS
Py SOSy  B9BMT | Sh0g
Wy 655y 096 [ £k
NW 2y 9GSy BSBMT [ €08E
Sy S SB[ ¥BSE
FORGUA 06y £10¢
0V S Ve | 195
) 168 WS 6TBW~— 806l
16 WS 6ZeW [ 928l
WY IS 6T [ 88
o
wr @y e o
Y WS BEE~— 8E16
[y 1S 8EeWT | #5106
€Y QS SB[ 0678
= ¥y WSy SEEW | 186l
£y LS EEeWT | SE0L
Ovy  00SH  OEBMT | €809
/ €Y %Wy STEW [ 0988
\ 06y  S6Wy  SLEWT  I5¥S &
B ¥Ry e~} 9578 B
/% /. Oy 6Ty IBBIY Lok NG
\ 1 . :
Y6€ LW 9BW [ ISHh
06 Wy 99U | OLZE
W : = BT 6mp BRI 0612 —
®T LW BLOM 8902
097  elelr  E9SW [ 80
= 2|58
£ Wz WY W . 122]e
& | A\ Iy L KT _ 18|38
O S0ezeuey T\ SITy 3 W=|5|8|8
) 1 . .
porokd  FVYV——r—W 0T o e O 150
S 00400S:} W
&
=
5 =
& e
_ o < ==
& S 2 = o = — &
L] ” W [ :H m m —m D.
S = = Q 5 o EX T
Y < = =2 £ gZEE-
u < < = S = o E 5=
S = & =] = = ==
ER S & £ 8 £g8%%




